GEOMETRY EXAM 3.2 Part II
[image: image1.png]1.Find BC.

2. Find the circumference of @ P to the
nearest hundredth. T

3. Find mXW. z

4. 1f the length of an arc of measure 80 is 12x inches, find the
length of the radius of the circle.

5. Find GH. G
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6. Two parallel chords 16 centimeters and 30 centimeters long
are 23 centimeters apart. Find the length of the radius of the
circle,

7. Find x.
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[image: image2.png]8. The four corners of a square chessboard touch the edge of a
round table. The length of the chessboard is 1 foot. Find the
length of the radius of the table.

9.1n ®0, OA and OB arc radii and mZBOA = 120. Tangents PA
and PB have length 10. Find OA.

10. Quadrilateral ABCD is circumscribed about @0, IfAB = 17,
BC =11, and DC = 8, find AD.

11. Find x. ‘
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[image: image3.png]For Questions 12-14, use ®D with
tangents AS and AM.

12. Find mZGAF.

13. Find mZGMH.

14. Find m£AEM.

15.Find BE.





[image: image4.png]17. srowvat
G-2x-6)+ -5y +11)=0

isthe equationof a e, What s thecenterof i cice? What i the racivs o this cce? (5 Poiats)

18 in the igure below, the circl with center O circumscribes & ABC.

Points 4, B, and P are collinear, and the line through P and C is tangent to the circle at C. The center of
the circlelies inside & ABC.
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inthedisram that v cogruen,and sy hy are corgruen. (4 oits)
b. If B is the midpoint of AP and PC = 7, what is the length of PB? (3 points)

c. IfmzBAC = 50°, and the measure of the arc AC is 130°, what is m£P? (2 points)

o, Find two angl

119 Lot beth i nthe cooninat lan thet pesesthough the it (0,0, (0,61, and (6,01,
2.Use your compass to sketch C on the given cordinate plane. (1 point)
b. What are the coordinates of the center of the circle? (3 ponts)

. Whatithe lergtfth rcfthccloht o e st i with s o the 2?1 3 s
(Give an exact answer in terms of ) @ )

. Whatisthe legth of the arcof the circetha les nth second quadrant with endpoints onthe (4 points)
aves? (Give an exactamwerintemsof verses ad %)

€A o slops —1 i tangent t the icle withpoint of contat i thefst quacrant, What rethe (4 poiats)
Coondiatesof that point of contac?

200 10 ight wionste ABC with 28  ight angle,ain segment BC” connects side 7B with the hypotenuse so (4 poits)
tht 245 i 13





